| abed

00'0%

oo.cw .

000%

OJSED 9P 18101

SaJoUsIUE SB|EDSY SOMINIBIG 3P SOpNapY
saJousjue $3|easy soid1949(e ap sopnapy

00°0% 000$ 000$ 000% 000$ 00'0$ eoUeq | ap saiopeuoye A salopnap e sokode o epnsp ‘osaioueul 0jS0D
eoueq ej
9p salopeloye K saijopnap e sofode o epnap .O.-w_o___w:m. 0}s0d
000% 000% 00°0% 00°0% 00°0% 000$ soidioiunw A seAqesapa) sepepius e sauoioedioned
soidigiunuw 4 seapelepa) sepepijus e ssuojoedioiued
000% 000$ 000% 0008 000% 00'0% opezijeiapad olsen
(1esepad ousaiqoo) opezijelapa4 oises ap sewelsboid
000$ 0008 000$ 00°0% 000$ 00°0$ sauoisuad ap einongsaal A UQISIOAU] 3p SOpUO} B sauopepody
000$ 00°0% 000% 000% 00°0$ 000$ UQIDEZI|IGE)SS 3P SOPUO) B Sauoepody
000% 00°0% 00°0$ 00°0% 00'0$ 00°0% |eroos pepunbas e e sauomepody
00°0% 000$ 00°0% 00°0$ 00°0% 0003 sauotoeyignl A sauoisuad
seauooebijao
000% 0008 00'0$ 000$ 00°0$ 00°0% sojeInieN sagsesag
000% 000% 000% 000% 00°0$ 000% jeuoooipsuni ugionjosal ap ojuaiudwno ap ssuowebiiqo
sosiwosdwo)
000$ 000% 000$ 00°0$ 000$ 00°0$ seusle sauoiesadQ
000% 00°0¢ 000$ 000$ 00°0$ 00°0$ uonsab e| ap ouaiesofow [e A eonqnd ugwouny g e okody
000$ 000$ 000$ 000% 00'0$ 000$ JeUCIONYSUI BIDUSIOYD B) Jesobw ered A ouejsandnsaid ossooid (e ofody
okody op A soAREnSIUIWPY
16°1Z1'869'C% 61'829'296'01$ 61'829'296'01% 01°05.'099'€L$ 01°0S.86L'¥$ 00°000'298'8$ uQISIaAU| 8p s0joak0Id
000$ 00°0$ 000$ 00°0$ 000$ 00°0% sooyads3
00°0$ 000$ 00°0% 00°0% 00°0$ 00°0%$ (jesapad oWBIGOS) SIUSWEDIUN) SEpRULY SEZISNJ SE| 3p SSUORUNS
00°0% 000% 00°0$ 00°0% 00°0$ 00°0% ugisiasedns A ugoenbey
000% 00'0$ 000% 000% 00'0$ 00'0$ 0juUBWIO} A LGOI
000$% 000% 000% 000% 000% 000% seoiiqnd seonyjod ap ugeneas A ojusiwinBas ‘ugioeaue)d
00°0% 00°0% 00°0% 00'0$ 000$ 0008 $00I{qNd S8ualg 3p UQISIACId
19°008'889°L$ 1E°0VS's58'L$ 1€°0¥5'GE0'8% 86'0VE'¥2L 6% ZOVLL'19LS 00'GLL'98Y'0LS S00IqNd SOIAISS 8P UQIE]Sald
sauoloun4 se| ap ouadwasaq
62 /16'89€% SE'6TY'S00'vS SE'6CY'S00'vS yo'ove'cle'vs v9'9/£'860'L$ 00°0/6°G/Z'ES So|pisqns sof0
000% 000$ 000$ 000% 000$ 000$ uotoeiadQ 3p sejbay e sojeing
soidipungy
£ seaneieped sepepiu3 o opeAud A [e100§ 101035 soipisqng
seweiBoid
(r-€)=9 S ¥ (z+1)=¢ z b
opebBe ebus. opes (sauojonpay) opeqod
S pebed opebuansg PeayipoN | seuopeiKuy peqoudy o0)dasuon
sosaibg
‘wd 26:Z) | uotsaidw) ap eioy 0dsoseuBojsendnsaldopeis3ds ‘doy

£202Z/'n0u/ /g | A eyoad

€Z0Z/IP0/LE IV £202/aU9/L0 I2d

eanewesboid euobaje) sod ojsen

v1g3Nnd 30 Odvis3

NVOVNHXVD 3ad OIdIDINNN

Josiuadns Ush)

]
E-Luﬁﬂs



¢ 9bed

i3NN SON 30 VZN¥IINOD!
vZ02-1 207
‘BNd ‘NYIVNHXVYD
CLNIINYLINNAY 130
TVHINID wy3aNTIO VIMVLIIHO3S
FIHvi3IN03S
ZNYDo v1330 s34

34 SON N0 ¥ 7m0
¥Z0Z-4 207
‘3N ‘MYIVNHXYD
TIVAIHNNA
vi¥3¥0s3L

V.L1vH3d ZIHINVY TI15dv

TVdIOINNIN OH3IHOS3,

(]

07,7
oL )

TvdIDINNWVIR %%ﬁ@z.-::ﬂ&

Zv1Q Z3M3d YINOLNY @1 C0C

NVOYIIHXYD
IVLISINNK
VIONIUIS3Yd

sewesBoid

(vr-€)=9 S 14 (z+1)=t z i
opebed opebuanag opesyIPoN iz opeqoudy i x.-03deouo
omasefeqng '
sosaubg
‘wd 2g:zL | uoisaxdw) ap eioy 0dsosesb3oisendnsaigopeis3idi :dey

£20g/ Aou/LZ | A eyoad

€20Z/129/1€ IV £202/2uU9/10 120
esnewesboid euobaje) 1od 0jses
vig3nd 3d oavis3
NVOVNHXVD 3d OIdIOINNKN

Joswaedns s

e



